
Igualdades (E)Halle los valores de cada incógnita.
30 + 31 = 55 + ◊ 53 + 84 = ⧉ + 94
10 + 97 = ⌷ + 99 61 + ⍟ = 10 + 86
99 + 51 = 53 + ∎ 57 + ⌓ = 77 + 53
92 + ⌷ = 31 + 88 29 + 65 = ∇ + 19
18 + ⌂ = 41 + 52 ⊙ + 17 = 10 + 52
⍟ + 2 = 7 + 7 92 + ⎔ = 83 + 72
97 + 95 = 94 + ⨳ 29 + □ = 20 + 53
▭ + 92 = 91 + 78 4 + 40 = ▭ + 2
60 + 24 = 59 + ⌂ ∇ + 62 = 36 + 44
38 + 14 = 38 + ⟣ 81 + ∆ = 94 + 28
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Igualdades (E) RespuestasHalle los valores de cada incógnita.
30 + 31 = 55 + ◊ 53 + 84 = ⧉ + 94◊ = 6 ⧉ = 4310 + 97 = ⌷ + 99 61 + ⍟ = 10 + 86⌷ = 8 ⍟ = 3599 + 51 = 53 + ∎ 57 + ⌓ = 77 + 53∎ = 97 ⌓ = 7392 + ⌷ = 31 + 88 29 + 65 = ∇ + 19⌷ = 27 ∇ = 7518 + ⌂ = 41 + 52 ⊙ + 17 = 10 + 52⌂ = 75 ⊙ = 45⍟ + 2 = 7 + 7 92 + ⎔ = 83 + 72⍟ = 12 ⎔ = 6397 + 95 = 94 + ⨳ 29 + □ = 20 + 53⨳ = 98 □ = 44▭ + 92 = 91 + 78 4 + 40 = ▭ + 2▭ = 77 ▭ = 4260 + 24 = 59 + ⌂ ∇ + 62 = 36 + 44⌂ = 25 ∇ = 1838 + 14 = 38 + ⟣ 81 + ∆ = 94 + 28⟣ = 14 ∆ = 41MatesLibres.Com


